	“Even the hardest puzzle has a solution.”	2013 Sample Paper 2 



[image: Image result for inspirational quotes for maths exams]Question 3: Co-ordinates C3
a) y- = m (x-)
b) Perpendicular slope = change sign and flip.
Point for p = (7, 0)
Equation of line:
y- = m (x-)
c) Use simultaneous equation to find the point of intersection.
Equations to use for simultaneous equations:
1st line:             3x + 2y = -18
2nd line:	            answer b




Question 1: Probability C6 
a) If unbiased, you would expect heads to appear half the amount of times thrown. Does this happen? If this does not happen for all three cases…the coin in biased.
b) Get total number of tosses = 
Get total number of head tosses = 
Probability of getting heads = 
c) Probability for three trails: 
Probability of 1 x probability of 2nd x probability 3rd time = 

Probability for two trails:
Probability 1st time x probability 2nd time = _____

If they are the same answer, joe is right. If they are not the same answer, Joe is wrong
Question 2: Probability Chapter 6
a) I)Probability stopping on green =
Ii)Give all possible outcomes:
Example: Red, Red, Red
	Red, Red, Green
	Red,Green,Red….etc
b) 0euro = No green
1 euro = 1 green and two other colours
2 euro = 2 green and other colour
3 euro = three greens
c) A Bernoulli trial is an experiment whose outcome is random and can be either of two possibilities: “success” or “failure”. 
Answer is either YES or NO.
Reason: refer to definition (A Bernoulli trial)













Question 4: Circle  C12 and C3
a) I) 
b) A) Use [image: ] to get the radius.
Sub into 
B) Circle 2 has not got a centre of (0,0) so you must find centre of  circle 
[image: ] 
Then use this centre in the equation of a circle formula:









Question 6: Constructions C15
a) http://cbsthurles.scoilnet.ie/blog/files/2011/05/Constructions-pdf.pdf 
Use this website animation to help you draw the construction given.
b) Draw same construction but upside down.
c)  
[image: ]
Question 5: Volume 
a) Draw cylinder using ruler and given dimensions. Note: curved surface area of cylinder = 2

b) [image: ]

c) [image: ] = answer from b. Find radius of the sphere

Find surface area using [image: ]









Question 7: Collecting data
a) Use data given to construct stem and leaf diagram.
Draw a rough stem and leaf first. Then re-write into answer sheet ensuring numbers are in numerical order.
b) State the range for both the marriage rate and the death rate.
c) Example to demonstrate the meaning of the words ;
[image: ]
Median = The "median" is the "middle" value in the list of numbers.
Interquartile range = Upper Quartile – Lower Quartile.
d)  i)  [image: ]  (MEAN = )
ii) mean – standard deviation= _____				mean + standard deviation = _____
Look at the data given; list all numbers between the two numbers above.
e)

f)  = ___________
g) [image: ]
h) Ratio 1990: Birth number:death number
Ration 2010: Birth number: death number
Prediction: link to increase/ decrease of population
Reason: link to ratio.
i)link to birth rate, death rate and population. (Strong negative correlation.)


















Question 8: 
a) I) 360 divide by 6 = _____
ii)[image: ]
iii) [image: ]
iv) [image: ]
v) [image: ] = three sides same length.
b) [image: ]
ii) using ruler, join up the points and include arrows to indicate directions.
iii) Theorem: [image: ]
iv) Find distance using cos 30 = . Add x to 30 to get distance.
Then use :    Time = 
c) cos 30 = .
[bookmark: _GoBack]Use tan30 = 




























Question 9: Collecting Data: C8 AND C13 
70 MARKER = 28 MIN
a) Ordinal data = ordered data Example: Type of house (1 bedroomed, 2 bedroomed, 3 bedroomed)
Categorical data = Data that fits into a group
Discrete data = Can only take a particular value. example shoe size/ goals scored in match.
Continuous = Can take any value in a range. Example: Temperature/ Weight.
b)  i)Mean = 
ii) Range = Biggest height – smallest height
iii)medium = half way point so how many are shorter than 164.5cm? How many are taller than 164.5cm?
c)i)











Question 5: Trigonometry C14
a) i)Use Sine Rule.
 = 
ii) Use Formula		 Area =  ab Sin C
(Note: Find unknown angle, use this for angle C in formula. The sides a and b must be either side of the angle C.)
b) Use Cosine Rule Formula:
a² = b² + c² - 2bc Cos A
(Note: Side a needs to be opposite the angle A. So you need to first find the angle A using the fact that a straight line adds up to 180.)
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The diagonals [ 4B]and [CC’] of AC'BC bisect one another.

Hence, AC'BC is a parallelogram
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V=xr’h
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Median =72
Lower half Upper halt

63 64 64 70 72 76 77 81 81

Lower quarter I l Upper quarter

Interquartil range: 79-64 = 15

Q, = (64+64)/2=64 Q, = (77+81)/2=79
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Mean:
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‘The birth rates given are per 10000 of the population. If the population in 2000 was
greater than in 1990, more children could have been born in 2000 than in 1990 even
though the birth rate in 2000 was lower.
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Area of sector: Lzr?
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 equilateral triangle.
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The angle in a semicircle is a right-angle.
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